EARAROBEEIERT — 2 N— IBISH —F

20194F8A13H () 11H£R2H

WM r>%3®% B5

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[AE£] 1% :270,000 @ ~ 23&:62,000 ™ ~ 337%&:32,000M  437%&:24,000H  53&:16,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< KEH :32. -1-1- . — £H—8 (2R
i JlFavIri-Lx 3 s 1(3_2)3 1-1-1-1 | 39.3 1 (4+819) e
R:¥a-HT7F—/ B:FavIAINAZ RS
- hBEEH :33. —4-2— . — £H—8 (£R)
21811 44 HF—0O—4 X 4 3 56.OE 1(353)3 3-4-2-2 | 39.9 2 (4_830) e
L:ANT =TI B:UDT =i &
L BMEE . AT — WA= (&R)
slzlo| 71 —>517— i 3 i 1.(374>.7 7-6-7-6 | 40.2 5 <4+161) b
L:7v3iI7—L B:Yvxy bNIX R Bz
. . BER 0 65— = £H—& (&R)
N NESAYVEDS R ey | T | S |mamE
R:d—IVRT7Y2—)b B:NMLIC>TLR BT r7— LA
. i 3 | EHRTE 1:34.7 2-2-3-4 | #41.3| — 6 445 | REFE (£R)
5|7|8 IN=—2 N —1) 54.0 () (+2) _r(ﬁ)kJPNHEH
L:d7—3IUT7> BANLF—IL e
i it 3 | SHAKR— 1:35.6 9-10-9-9 |40.1| — 1 | 439 |REHFEZ (&R)
6!5/5|7W—=7b=J 54.0 ) © | (B JPNEER
LT7RIAVYTy IR B/ —TIR=— thiE IE
S 55 4 3 | FREA 1:35.6 5-56-5 | 41.3| — 4 492 | REFE (£R)
] 41779 7777%F 56.0 (72%) -2 (@) 3 P N
R:TFyTAAK BRFHRILLRE =itie
S it 3 | AEESB 1:35.7 6-8-8-8 | 41.0| — 9 395 | JIFRBABA (£3R)
8|80 ¥FTYI> 54.0 (1/2) we) | A M RA I
g7 —3IVT> BiRAINETIY Y 21455
o s B 3 | BUES 1:36.3 9-9-9-9 |40.8| — 8 409 | HOEEFNE (£9R)
9 3| /=T 54.0 ) o) | W) Tr—xtEVar
LT TRy b BT RIA YT R inkzkies]
P, 3 # 3 | BURTE 1:36.4 3-3-4-7 | 42.6| — 7 416 | BRI (£R)
10 2 AT—=23 54.0 (1/2) +5) (B) J P N#HR
Rib—trhwLARY BiNZ—L—F— ZNAE—FRF—T I
. 4 3 | HEEBX 1:39.2 11-11-11-11 41.6 | — 10 408 | JIIRBEABL (£R)
10111 L1477 54.0 (21 4) ) TEKEE
R:ZAv—h77)0> B:T7O0-UIXLS547 1£iE B—
® I —F—@EBIERL
13—7+— 7,8,(2,11),4,10,9,6, (3,5) ,1
20—F— 7,8,2,11,4,(6,9),10,3,5,1
Gal=5r= 7,11,8,2,6,4,9,10, (3,5) ,1
43—+— |[7,11,6,8,4,9,2,10, (3,5),1
[ N3
BB 7 180H4 714K 7-11 140H % E 6-8 140H 3EHE 7-9-11 1,170M
8 B 7 110 7-9 650 B 6-8 260M K31 7-11-9 2,540
1 1009 9-11 650M B E 7-11 180
9 330H B H 7-11 300

ABICOVWTRDTEEERROODE. TR LIV,




